Investigation 7: Exploring the relationship between

the pressure of the ball and coefficient of restitution
(Hands-on)

Note: The comments in the annotated examples match the labeling on teacher forms.

Examiner comments

Personal engagement| Exploration||Analysis|[Evaluation||Communication|| Total
x/2 x/6 x/6 x/6 x/4 x/24

I E [CR 2 3|

Personal engagement

This criterion assesses the extent to which the student engages with the exploration and makes it their
own. Personal engagement may be recognized in different attributes and skills. These could include
addressing personal interests or showing evidence of independent thinking, creativity or initiative in the
designing, implementation or presentation of the investigation.

Mark || Descriptor

The evidence of personal engagement with the exploration is limited with little

independent thinking, initiative or creativity.
* The justification given for choosing the research question and/or the topic

1 under investigation does not demonstrate personal significance, interest or
curiosity.

¢ There is little evidence of personal input and initiative in the designing,
implementation or presentation of the investigation.

Moderator’s comment

Moderator’s . . . -
There is some evidence of personal interest and curiosity and relevance to the student.

?Ward The design and method are straightforward and do not demonstrate personal input. The
first descriptor is nicely satisfied, but the second is not.
Exploration

This criterion assesses the extent to which the student establishes the scientific context for the work,
states a clear and focused research question and uses concepts and techniques appropriate to Diploma
Programme level. Where appropriate, this criterion also assesses awareness of safety, environmental,
and ethical considerations.

Mark || Descriptor

¢ The topic of the investigation is identified and a relevant but not fully focused
research question is described.

*  The background information provided for the investigation is mainly
appropriate and relevant and aids the understanding of the context of the
investigation.

* The methodology of the investigation is mainly appropriate to address the
research question but has limitations since it takes into consideration only some
of the significant factors that may influence the relevance, reliability and
sufficiency of the collected data.
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Moderator’s
award

Moderator’s comment

The scientific context is briefly explained. The variety of experiments makes any single
research question unfocused and the teacher should have guided the student to make a
thorough investigation of the coefficient of restitution as a function of pressure only.
This would have allowed for more in-depth analysis. The methodology is basic, and
there is some awareness of safety issues.

Analysis

This criterion assesses the extent to which the student’s report provides evidence that the student has

selected, recor
question and ¢

ded, processed and interpreted the data in ways that are relevant to the research
an support a conclusion.

Mark

Descriptor
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The report shows evidence of some consideration of the impact of measurement
uncertainty on the analysis.

The processed data is interpreted so that a broadly valid but incomplete or
limited conclusion to the research question can be deduced.

The report includes sufficient relevant quantitative and qualitative raw data that
could support a detailed and valid conclusion to the research question.
Appropriate and sufficient data processing is carried out with the accuracy
required to enable a conclusion to the research question to be drawn that is fully
consistent with the experimental data.

Moderator’s
award

Moderator’s comment

The student has indeed selected, recorded and processed appropriate data, including
uncertainties and gradients on some of the graphs. The accuracy of the data has been
represented with error bars where appropriate. The impact of uncertainties has not been

4 addressed under analysis but could be part of the conclusion. The student does go
through the motions of what is expected here, but there is a serious flaw with labelling
the data where the student mixes up “grass” and “dirt”.

Evaluation

This criterion assesses the extent to which the student’s report provides evidence of evaluation of the
investigation and the results with regard to the research question and the accepted scientific context.

Mark

Descriptor

1-2

Strengths and weaknesses of the investigation, such as limitations of the data
and sources of error, are outlined but are restricted to an account of the
practical or procedural issues faced.

A conclusion is described which is relevant to the research question and
supported by the data presented.

The student has described some realistic and relevant suggestions for the
improvement and extension of the investigation.

Moderator’s
award
3

Moderator’s comment

The student graphed the appropriate data, described it to a limited degree and also
provided some attempt at an explanation of the results. However, there was no mention
of relating his or her results to accepted scientific context. According to the student a
justification is attempted. Some strengths and weaknesses are realized, and
improvements and extensions are hinted at but often the language is vague and not clear.




Communication

This criterion assesses whether the investigation is presented and reported in a way that supports
effective communication of the focus, process and outcomes.

Mark

| | Descriptor

1-2

The presentation of the investigation is unclear, making it difficult to understand
the focus, process and outcomes.

*  The report is not well structured and is unclear: The necessary information on
focus, process and outcomes is missing or is presented in an incoherent or
disorganized way.

* The understanding of the focus, process and outcomes of the investigation is
obscured by the presence of inappropriate or irrelevant information.

* There are many errors in the use of subject specific terminology and
conventions®.

Moderator’s
award

Moderator’s comment

The research issues are not as focused as they should have been. In fact, there are two
sets of investigations going on at once. The teacher should have advised the student in
the planning stage to focus only on the coefficient of restitution and pressure
investigation. A number of sentences are vague, some scientific context and terminology
is wrong, and the graphs do not always help the understanding of the data.




Investigation 7 (@annotated)

Exploring the relationship between the pressure of the ball
and coefficient of restitution. /{ EX and C The title does not describe the entire }

investigation. The student lacks focus.

When | started thinking about possible investigations | knew | wanted to create a lab
that was related to sports. After a number of ideas, | thought that changing the pressure of the
ball would be a good independent variable and the rebound height of the dropped ball would

be a good dependent variable. This was }very interesting to me ‘beca use | had just started _— { PE The student clearly has some personal interest in }
- . . R this topic.
basketball season and it’s always a struggle finding a good ball to use at practice. Some balls are
too bouncy and others are under inflated. My sister and | are also b/ery particular‘about our /{ PE The student demonstrates some curiosity here. }
soccer balls. When the ball is over inflated it’s harder to control, and when it is under inflated
the trajectory of the ball is altered.
| finalized ‘my investigation to deal with hhe rebound height of different size soccer balls EX The student addresses too many variables. The
. . R . pressure and COR alone would have been
when they rebound off of different materials with different pressures, and that | should test the interesting. The teacher should have guided the

student to focus this way or another.

rebound height of the ball when it is under inflated and over inflated.

After some research | discovered that the ideal pressure for a size 5 soccer ball is 6-8
Lbs. FIFA measures the pressure of the ball in bars but for this experiment | will use Ibs. In
physics we usually talk about air pressure in atmospheres, but for soccer balls the pressure is
usually measured in Lbs. or bar.

Coefficient of Restitution

The coefficient of restitution ‘is a mathematical way of showing the elasticity of a - { EX The basic scientific context is given here. }

collision. It can be used when two moving objects collide or when a moving object hits a
stationary object. In my investigation a moving object (a soccer ball) will collide with the
ground. There are many formulas to calculate the coefficient of restitution depending on the
data that you are given, but the one listed below specifically deals with the height of ball
bounces.

If the collision is perfectly elastic, meaning that no energy is transferred, the coefficient of
restitution will be 1. Collisions are not perfectly elastic because energy is lost on collision. If the
coefficient of restitution is 0, the collision is completely inelastic and all energy is transferred
from the ball to the ground, friction, sound, heat and other forms of energy loss. This would
mean that when the ball drops, it doesn’t bounce back.

‘Energv Transfer in this experiment‘ - { C Somewhat wordy here; could have been more
precise.

The soccer ball is first raised up to a specific height. In this action energy is being
transferred from the person to the ball. When the ball is resting at its maximum height all of its
energy is gravitational potential. As the ball is released, gravity accelerates it towards the
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Investigation 7 (annotated)

ground. As it is accelerating, the energy is transferred from potential energy to kinetic energy.
The instant it hits the ground all of the energy is kinetic energy but it is quickly transferred to
elastic potential energy when the ball deforms. The elastic potential energy is then transferred
to kinetic energy again when the ball rebounds back up. This kinetic energy is then transferred
to gravitational potential energy. At any part in the path of the ball, the energy is a combination
of kinetic and potential.

When the ball rebounds back up it will not reach its original height due to energy loss.
The energy loss occurs when the ball hits the ground. Energy is loss to sound and heat. When
the ball loses energy it is not able to reach its maximum height.

Research Questions‘: What are the optimal conditions for a bouncing soccer ball to achieve the | EXAsaresearch question(s) it is not concise.
. . Moreover, the student is dealing with too many
maximum rebound height? variables.

Independent Variable: In this experiment | will be testing the impact of three different
variables on the rebound height of the ball. The most important variable that | will be changing
is the pressure of the soccer ball. In order to enhance this experiment | will change the surface
that the ball bounces on. The three surfaces that | will be using are grass, stone and dirt. | will
also be investigating if the size of the ball affects the rebound height. | will be using size 1, size 3
and size 5 soccer balls.

Dependent Variable: The dependent variable in this experiment will be the rebound height of
the soccer ball.

Control Variable: In this experiment there are many ‘control variables fthat will be put in place to /{EXThe student is aware of the importance of the
other variables.

ensure our results are as accurate as possible. Control variables are used to ensure that only
one variable is being changed in each experiment. Since this investigation deals with three
independent variables, only one will be changing at a time. Here is a list of the control variables:

Height that the ball is dropped: The ball will always be dropped from 150cm above the
test surface.

Surface that the ball is being dropped on: When | change the pressure of the ball the
surface will remain the same for all trials.

Soccer ball: The size 5 soccer ball that is used will always be the same for every trial. The
same goes for the size 1 and size 3 soccer balls.

Materials: Laptop, Vernier LabPro interface, Motion sensor, Meter stick, Air pressure gauge
(measured in Lbs.), Air pump, Size 1 soccer ball, Size 3 soccer ball, Size 5 soccer ball, Grass area,
Dirt area, Limestone Area, Pole (at least 1.5 meters high), Chair/table to help hold apparatus
during data collection.
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Investigation 7 (@annotated)

Procedure‘ | EXThe method is appropriate once we focus the
. . . R R . R question and the student is aware of basic scientific
1. Stick a pole into the dirt surface where you will be doing the first experiment. s,

2. Put tape on the stick 150cm above the ground.

3. Set up the motion sensor and Vernier to your laptop.

4. Using chairs/ tables place the motion sensor approximately 175cm above the ground.
Make sure it is set up beside the pole. (I had to move my pole to make it work with the
motion sensor.)

Inflate size 5 soccer ball to 12 Lbs.

Hold up the ball so the middle is at the tape (150cm).

Start collecting data with LabPro

Drop ball.

L N w

Stop data collection when ball has bounced and returned to the ground
10. Save data.

11. Complete 3-5 trials for each ball, pressure and surface.

12. Once all trials are completed, analyze data and record in data tables.

ﬁafetyVSetup Considerations: EX Safety issues are addressed. There are no
environmental or ethical issues here.

- Ensure the motion sensor is securely placed on the table. Use tape to keep it down if
necessary.

- Place your laptop as far from the bouncing ball as possible to ensure it does not get hit
by the rebounding ball.

Data and Processind; A The student has followed appropriate processing

N R with an acceptable range of data. Uncertainties are
| collected the data with the motion sensor and saved the data (data table and graph) on my mentioned. The graph below is not useful as it is not

laptop. Once | was finished collecting all the data for my investigation | analyzed each trial and clear what we are looking at.
recorded the initial and rebound height.
Here is a screen shot of what the graph looks like when a ball is dropped. This graph is one
of practice drops, but it clearly shows what an ideal bounce would look like. The y axis shows
the position of the ball from the motion sensor, not from the ground. In this example the ball
starts 0.456 meters away from the sensor.

Beside seeing a visual of change in position, LabPro records
the data (see next page) in a table and a graph (on the right).
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Investigation 7 (annotated)

N

From 0.80 to 0.90 seconds, the ball is still at its original position. At 0.95 seconds the ball hits
the ground, bounces back up at 1.00 seconds and returns to the ground at 1.05 seconds.

To calculate the distance it bounced up I looked at the position column. The ball starts
45.6cm from the motion sensor. It then hits the ground that is 60.2cm from the motion sensor.
This means the ball dropped 14.6 cm (60.2-45.6). The ball then bounces back up where it is now
47.0 cm away from the motion sensor. The ball rebounded 13.2cm (60.2-47.0) after it hit the

-— ground.
) m
16 | 080 0456 The hables ‘below show the data collected from my experiment. The | AThe tables are appropriate and clear. They
17 0.85 0.455| provide the information the student needs for the
18 | 000 0454 processed data for this lab is the coefficient of restitution. | have included graphs.
% ?gg gf% the coefficient of restitution in the raw data table so you can easily see
% } ?g giig how when the rebound height decreases, the coefficient of restitution
23 | 1.15 0469 decreases. | expected to see this relationship because a lower coefficient
24 120 0595 _— L . .
25 | 125 0azs Of restitution means the collision is more inelastic, and a lower rebound
J% } gg gg%g height means that more energy is lost during the collision.
28 | 140 0626
Size 1 Soccer Ball s o e
Stone Pressure (+/- 0.5Ibs.)
Height rebounded 10.0 8.0 6.0 4.0 2.0
Trial 1(+/- 0.1cm) 110.3 87.4 43.0 20.4 6.2
Trial 2(+/- 0.1cm) 107.1 85.6 423 233 4.4
Trial 3(+/- 0.1cm) 108.6 87.8 44.7 24.8 6.0
Average (+/- 0.01cm) 108.7 86.9 433 22.8 5.5
Coefficient of restitution (+/- 3.8x10°%) 0.9 0.8 0.5 0.4 0.2
Dirt Pressure (+/- 0.5lbs.)
Height rebounded 10.0 8.0 6.0 4.0 2.0
Trial 1(+/- 0.1cm) 0.3 2.8 6.2 9.3 0.0
Trial 2(+/- 0.1cm) 0.0 0.0 4.7 11.5 0.0
Trial 3(+/- 0.1cm) 0.0 0.0 5.5 13.1 0.0
Average (+/- 0.01cm) 0.1 0.9 5.5 113 0.0
Coefficient of restitution (+/- 0.0) 0.0 0.1 0.2 0.3 0.0
Grass Pressure (+/- 0.5lbs.)
Height rebounded 10.0 8.0 6.0 4.0 2.0
Trial 1(+/- 0.1cm) 87.3 68.6 339 21.2 4.0
Trial 2(+/- 0.1cm) 79.1 711 323 18.4 7.6
Trial 3(+/- 0.1cm) 82.8 74.7 29.0 18.9 6.1
Average (+/- 0.01cm) 83.1 715 317 19.5 5.9
Coefficient of restitution (+/»3.2x10’3) 0.7 0.7 0.5 0.4 0.2
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Investigation 7 (annotated)
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)Graph 1: \Coefﬁcient of Restitution for size 1 soccer ball. The three different symbols represent different A Here and in the following graphs there is too
. . .. . much information on a single graph to allow a clear
surfaces. Vertical error bars are too small to be visible P, A e e e e G
student. The scale and units overlap making the
S- 3 S B I I graph somewhat confused. In fact, there are
1ze occer ba serious errors in the representation of the data. On
Stone Pressure (+/- 0.5lbs.) graph 1, the data for size 1 soccer ball (from page 4)
. . shows the coefficient of restitution going from zero
Height rebounded 10.0 8.0 6.0 4.0 2.0 up to 0.3 and then back to zero for “dirt,” yet on
. the graph it is labelled
Trial 1(+/- 0.1cm) 92.0 72.7 343 13.8 21 g it & ) ST, S e S 2 A S
Trial 2(+/- 0.1cm) 92.8 72.1 41.0 25.2 1.8 on pages 6 and 7.
Trial 3(+/- 0.1cm) 92.1 73.0 33.8 17.1 3.2
Average (+/- 0.01cm) 92.3 72.6 36.4 18.7 2.4
Coefficient of Restitution (+/-3.6x107) 0.8 0.7 0.5 0.4 0.1
Dirt Pressure (+/- 0.5lbs.)
Height rebounded 10.0 8.0 6.0 4.0 2.0
Trial 1(+/- 0.1cm) 0.0 3.0 4.0 9.0 0.0
Trial 2(+/- 0.1cm) 0.0 2.0 6.0 8.0 3.0
Trial 3(+/- 0.1cm) 0.0 0.0 5.0 11.0 0.0
Average (+/- 0.01cm) 0.0 1.7 5.0 9.3 1.0
Coefficient of Restitution (+/- 0.0) 0.0 0.1 0.2 0.2 0.1
Grass Pressure (+/- 0.5lbs.)
Height rebounded 10.0 8.0 6.0 4.0 2.0
Trial 1(+/- 0.1cm) 72.0 71.0 25.0 11.0 4.0
Trial 2(+/- 0.1cm) 76.0 67.0 22.0 13.0 6.0
Trial 3(+/- 0.1cm) 74.0 68.0 1.0 8.0 4.0
Average (+/- 0.01cm) 74.0 68.7 16.0 10.7 4.7
Coefficient of Restitution (+/-3.3x10”") 0.7 0.7 0.3 0.3 0.2
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N
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Graph 2: Coefficient of Restitution for size 3 soccer ball. The three different symbols represent different
surfaces. ***Vertical error bars are too small to be visible***

Size 5 Soccer Ball

Stone Pressure (+/- 0.5lbs.)

Height rebounded 12.0 9.0 7.0 4.0 2.0
Trial 1(+/- 0.1cm) 87.8 73.1 41.3 17.2 6.1
Trial 2(+/- 0.1cm) 92.9 67.0 39.6 21.5 5.8
Trial 3(+/- 0.1cm) 89.3 74.7 43.2 18.2 4.2
Average (+/- 0.01cm) 90.0 71.6 41.4 19.0 5.4
Coefficient of Restitution (+/- 3.5x10”) 0.8 0.7 0.5 0.4 0.2
Dirt Pressure (+/- 0.5lbs.)

Height rebounded 12.0 9.0 7.0 4.0 2.0
Trial 1(+/- 0.1cm) 0.0 3.0 6.0 9.0 0.0
Trial 2(+/- 0.1cm) 0.0 0.0 4.0 11.0 0.0
Trial 3(+/- 0.1cm) 0.0 0.0 5.0 13.0 0.0
Average (+/- 0.01cm) 0.0 1.0 5.0 11.0 0.0
Coefficient of Restitution (+/- 0.0) 0.0 0.1 0.2 0.3 0.0
Grass Pressure (+/- 0.5lbs.)

Height rebounded 12.0 9.0 7.0 4.0 2.0
Trial 1(+/- 0.1cm) 79.0 62.4 38.1 16.0 5.7
Trial 2(+/- 0.1cm) 80.8 63.1 37.8 15.4 4.3
Trial 3(+/- 0.1cm) 76.8 67.9 40.3 13.2 6.0
Average (+/- 0.01cm) 78.9 64.5 38.7 14.9 5.3
Coefficient of Restitution (+/- 3.2x10°%) 0.7 0.7 0.5 0.3 0.2

6
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Graph 3: Coefficient of Restitution for size 5 soccer ball. The three different symbols represent different
surfaces. ***Vertical error bars are too small to be visible***
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Graph 4: The bbove graph Lshows the rebound height of the three balls when they are dropped on grass. C The student’s representation of the data is far
from perfect. Once again, the student mixes up
grass and dirt representations on graphs 2 and 3.
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Graph 5: This graph shows the rebound height of the three balls when they are dropped on stone.
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Graph 6: This graph shows the rebound height of the three balls when they are dropped on dirt.

Conclusion and Evaluation

This experiment confirms ’the relationship ‘between the pressure of a soccer ball and the //{ EV And what is the relationship?

rebound height of the ball. | also investigated if the surface which the ball bounced on affects
the rebound height. The data | have collected shows the same relationship for all three sizes of

soccer balls. For grass and stone, the ‘rebound height increased ‘as the pressure increase. A //{Ev More can be said here.

linear trendline was used to fit the data. When the ball bounced on dirt, all three sizes
responded the same way to a change in pressure. At the highest and lowest pressure, the
rebound height was 0 except the size three ball rebounded 1cm when the pressure was 2 lbs.
As the pressure increased by 2 Ibs. the rebound high increased approximately 12cm. This was
the maximum height reached by the ball when it bounced on dirt. As the pressure increased
from 4 Ibs. to 10 Ibs. the rebound height decreased linearly.

When the soccer balls were dropped with the same pressure on the ’three different surfaces, //{Evms is correct, but hardly scientific. More
thought is needed.
the rebound height was the highest with the stone, followed by the grass and then the dirt. The ougt s eece

rebound height was higher with the stone than the grass because there is some grass between
the ball and the grass. Although the ball was not rolling on the grass, there is friction as the ball
falls vertically through the blades of grass. As the ball falls on the grass the blades bend out to
the side from the weight of the ball. This is evident when you look at the grass after the ball hit
the ground; you can see an indent in the grass. The friction between the stone and the soccer

ball is negligible in comparison with the Hriction ‘presented by the grass. The ball’s higher | EV Where s the argument that friction makes the
. . . R difference here?
rebound height on the stone is also due to the compactness of the different materials. The “clichioningisnot friction|but|related tolimpulee;

stone is a much denser than the grass which means the ball deforms more as it hits the stone
causing it to lose less energy when it rebounds. The grass is cushioning the ball as it hits the
ground which causes the rebound height to be reduced.

When the ball bounced on dirt at low pressure our results were expected, the ball reached a
very low rebound height. As the pressure increased the ball started to bounce higher, again this
is what | expected. The results then veered away from my hypothesis as | continued to increase
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Investigation 7 (@annotated)

the pressure. When the pressure reached about 6 Ibs. the rebound high started to decrease
again. This can be seen in graph 6. | think that this trend was observed because as the pressure
increased, the ball became firmer. When the ball became firmer it hit the ground with a
greater power. This caused a bigger indent in the dirt (since it was soft) which cushioned the
ball.

If energy is never created or destroyed, why do some balls bounce higher than others if they
are dropped from the same height? Since they are dropped from the same height, they have

student is rambling too much and needs to get to

the key points.

the same amount of energ%. My conclusion is that when an under inflated ball hits the ground, EV and Cf only they have the same mass too. The
the ball is more deformed than when an over inflated ball hits the ground. When the ball is

deformed to a large magnitude, a larger portion of the surface hits the ground. This means that
more energy is transferred into the ground. Also since there are fewer gas molecules in the ball,
it is harder for the ball to regain its original shape. When the ball deforms the area inside the
ball is essentially smaller. This means that the air molecules are colliding with the side of the
ball more frequently causing the ball to regain its shape. When the ball is regaining its shape
and the area increases, the number of collisions with the surface of the ball decreases. This
means that there are weaker forces to ‘push’ the ball off the ground. |With a high pressure the

number of molecules inside the ball is greateﬂ. This means that as the ball deforms the 1 EV Now the student is thinking. But again, this
L. needs to be related more to the analysis of the
collisions between the molecules and the soccer ball are more powerful and at a greater e, et O i

frequency. This causes the ball to rebound faster and with a greater magnitude.

The dirt was not very hard packed so it ‘cushioned’ the balls as they fell. This was a source of
energy loss. Due to the ‘cushion’ effect of the dirt, the rebound height was significantly lower
than stone and grass. This can be seen in graph 1, graph 2 and graph 3.

Besides energy loss to sound, heat and friction as the ball hit the surface, there was energy loss
due to air resistance. When the ball fell from its initial height | assumed that all the energy was
transferred to kinetic but in fact some energy is transferred to the air. Therefore it is not
possible to reach the initial height when it rebounds back up, even if no energy was transferred
to sound, heat or friction on the ground.

The unevenness of the surfaces ‘also caused some problems with the data collection. The ball 1 EV The student is aware of some of the issues, but
. . . R again the comments are too qualitative and not
did not always bounce in a perfectly vertical manner. It would rebound on an angle causing the i B o e e i,

motion detection to record incorrect values. Since the ball was traveling at an angle, the vertical
component of it was smaller than it would have been if it bounced straight up.

When processing my data | was only concerned with the first rebound height, not the
successive bounces. The data for the first rebound height seemed to follow a general trend and
the trials seemed to be precise but | don’t think the actually values for the rebound height are
accurate. Some trials show that the second rebound is higher than the first rebound. From

@ Physics teacher support material 9



Investigation 7 (annotated)

qualitative observations | know that this did not occur. |This confirms that the motion sensor

was not always collecting the maximum height of the rebound. rThis will be discussed in further EV This may be correct but what is the sampling
. - rate? One could easily improve this aspect of the
detail when | explaln |mprovements to the lab. data collection (as mentioned a few paragraphs

later but should have been appreciated when
designing the investigation).

To [improve )this investigation | could ensure all the balls were made from the same brand and

””’{ EV This should have been a control variable, but

made from the same material. The material of the soccer balls used in this experiment were all T sy e i s

different. The different materials have different properties that could have made them react
differently on the three surfaces. The material of the size 3 soccer ball seemed worn in
comparison to the size 1 and size 5 soccer balls.

Next time | would have used a dirt surface that was harder packed. Since the dirt was lightly
packed every trial made the dirt harder packed for the next trial. This means that the later trials
would essentially be bouncing on a different surface because the dirt would become less
‘absorbent’ as the ground compresses.

To improve my investigation | would set LabPro to collect data from the motion sensor every
0.01 seconds instead of every 0.05 seconds. Since the ball bounces so quickly, it could have
reached hit the ground and start bouncing back up before data is collected for its maximum
displacement. If the data was taken every 0.01 seconds our data would be more precise to the
real displacement of the ball.

To further investigate the optimal conditions for a soccer ball | could explore the relationship

between the [design in the Ieather\and rebound height. Different balls have different isv and € What does this mean? More waffle does
not help the student.

aerodynamics due to the different design of the ball. Some are made out of hexagons and
pentagons (the traditional way) while others are made with irregular shapes. The aerodynamics
of the ball affects the velocity that the ball has when it hits the ground. | would expect that at
different velocities the rebound height would change.

10
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